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1 - 9. sorularda, cümleyi tamamlamak için uygun gelen 
sözcük veya ifadeyi işaretleyiniz.

1. Most children love candies because they are - - - -.

A) juicy

B) salty

C) sweet

D) greasy

E) healthy

2. Nutrients like protein, carbohydrates, and fats can 
help you stay - - - -.

A) fat

B) green

C) obese

D) greasy

E) healthy

3. Simple salads of lettuce, tomatoes and olives may be 
served with most of the - - - -.

A) main dishes

B) desserts

C) starters

D) salads

E) drinks

4. - - - -  did you pay for the book?

A) How often

B) How long

C) How much

D) Where

E) What

5. - - - - do you usually get up on weekdays?

A) How long

B) What time

C) How often

D) Why

E) Who

6. He is- - - - late for school, he is a punctual boy.

A) generally

B) usually

C) always

D) often

E) never
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Cevap anahtarına ulaşmak için karekodu okutunuz.
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7. Let’s go out and play basketball, - - - -?

A) shall we

B) didn’t you

C) aren’t they

D) won’t she

E) should you

8. Mary: What are you doing?

 Sally: I - - - -.

A) can drive car

B) will decide tomorrow

C) am drawing a picture

D) don’t have a mobile phone

E) brush my teeth twice a day

9. George: - - - -?

 Owen: He is sleeping in his room.

A) Why are you late

B) When do you out

C) Where is your dad

D) What are you doing

E) How old is your sister

10 - 12. sorulardaki boşluklara uygun gelen ifadeyi, 
aşağıda verilen tabloya göre işaretleyiniz.

JACK MATEO OLIVER
Age 25 30 35
Weight 70 kgs 72 kgs 75 kgs
Height 1.68 cm 1.72 cm 1.80 cm
Salary $800/month $1000/month $1500/month

10. Mateo earns - - - -.

A) the most of all

B) as much as Jack

C) more than Oliver

D) the least of all

E) more than Jack

11. Oliver is - - - -.

A) younger than Jack

B) as old as Mateo

C) older than Jack

D) the youngest of all

E) as young as Jack

12.  Jack is - - - -.

A) heavier than Oliver

B) thinner than Mateo

C) the heaviest of all

D) as heavy as Mateo

E) heavier than Mateo
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